
Multiplication par 0,01 (J)Trouvez chaque produit.
73 × 0,01 = 72 × 0,01 =
43 × 0,01 = 13 × 0,01 =
28 × 0,01 = 68 × 0,01 =
52 × 0,01 = 71 × 0,01 =
53 × 0,01 = 98 × 0,01 =
80 × 0,01 = 65 × 0,01 =
81 × 0,01 = 21 × 0,01 =
2 × 0,01 = 45 × 0,01 =
22 × 0,01 = 85 × 0,01 =
62 × 0,01 = 19 × 0,01 =
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Multiplication par 0,01 (J) SolutionsTrouvez chaque produit.
73 × 0,01 = 0,73 72 × 0,01 = 0,72
43 × 0,01 = 0,43 13 × 0,01 = 0,13
28 × 0,01 = 0,28 68 × 0,01 = 0,68
52 × 0,01 = 0,52 71 × 0,01 = 0,71
53 × 0,01 = 0,53 98 × 0,01 = 0,98
80 × 0,01 = 0,8 65 × 0,01 = 0,65
81 × 0,01 = 0,81 21 × 0,01 = 0,21
2 × 0,01 = 0,02 45 × 0,01 = 0,45
22 × 0,01 = 0,22 85 × 0,01 = 0,85
62 × 0,01 = 0,62 19 × 0,01 = 0,19
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